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This problem could be solved with dynamic programming.

But first we need to calculate some additional information about the sticks.

Let's sort them all by positions in ascending order.
If we push i—th stick to the left it may cause some neighboring sticks also fall to the left.
Let leftmostLyingPos (i) be the leftmost such stick.

In a similar way let rightmostLyingPos (i) be the rightmost such stick if we push i—th stick to

the right.
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Let dp(i) be the minimal number of pushes needed to make fall all the sticks in

positions 0...i inclusive.

We need to consider two options and select one with the minimal value:

1) Make i-th stick fall to the left
In this case we just need to push i—th stick to the left.

And it'll take 1+dp(leftmostLyingPos(i)—1) pushes in total.
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2) Make i-th stick fall to the right

Let's consider all such sticks that if we push one to the right it will make i-th stick
also fall to the right. Suppose current such stick is j-th.

Then it will take dp(j—1)+1 pushes to make all ii sticks fall.

So we need to select such stick that this wvalue is minimal.
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In the second option, when we try to make i—th stick fall to the right, we don't actually need
to consider each stick 7 all the time.

Let's just store all these sticks and keep them sorted by dp(j—1)+1 values.

We're only interested in a stick with the minimal such value.

It can be done with Priority Queue and cost O(log N) for each query.

Zlso do not forget to delete from this storage all such sticks j that rightmostLyingPos(j)<i.

Total time complexity is O(N log N).
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